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English Language

Q.81) (¢)

Explanation:

The most opposite meaning of volatile is ‘stable’. The best way
to answer such questions is to replace the highlighted word or
the word asked in the question with each option to assess which
one fits best in the context of the line or paragraph.

Q.82) (a)

Explanation:

According to the passage, ‘as the population of the country
increases, the number of dependants in the country also
increase which in turn increases the pressure on the economy’
is true about the impact of increasing population on Indian
economy.

Q.83) (¢)

Explanation:

‘Looking at the growth of the service sector in India it can be
safely said that the service sector will soon be in a position to
support both agricultural and industry sector’ and ‘Currently, the
agricultural and industry sector contribute lesser as compared

to service sector to the GDP of the country’, are said about the
agriculture and industry sectors in India.

Q.84) (a)

Explanation:

The most similar in meaning to the word ‘perspective’ is
‘viewpoint’. The best way to answer such questions is to replace
the highlighted word or the word asked in the question with
each option to assess which one fits best in the context of the
line or paragraph.

Q.85) (a)

Explanation:

India has not followed the conventional model of growth and
has moved directly from the agriculture sector to the service
sector.

Q.86) (d)

Explanation:

Options a, b and ¢ do not go with the theme, only option d
“unquestionable”, matches the exceptionable role of the laser.
The most fundamental step to answer such questions is to build
a strong vocabulary and brush up on your grammar. Learn new
phrases, synonyms, antonyms, and idioms every day. And last
but not the least advice is ‘practice more’.
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Q.87) (d)

Explanation:

Doctor Sanjay C definitely “remodels the eyes” as in the later
part he talks about flattening or raising the cornea. Hence option
(d) is correct. The most fundamental step to answer such
questions is to build a strong vocabulary. Learn new phrases,
synonyms, antonyms, and idioms every day. And last but not the
least advice is ‘practice more’.

Q.88) (c)

Explanation:

Doctor Harshad P. would be expected to look at his “patient”
under normal circumstances to diagnose the problem or solve
it. Hence option ‘¢’ is correct. You should try to understand
the context of the paragraph. Sometimes, the context of the
paragraph also helps in identifying the correct option.

Q.89) (c)

Explanation:

The patient cannot be operating, diagnosing or criticising lying
on the operating table. He can only be “watching” the projection
on the TV screen. Hence, option ‘c’ is correct. You should try

to understand the context of the paragraph. Many-a-time, the
context of the paragraph also helps in identifying the correct
option.

Q.90) (a)

Explanation:

Here only two options make sense, i.e., option(a) “tens of times
better” and option (d) “more colourfully” but ‘seeming more
colourfully’ is not at all a desired advantage of the laser surgery.
Option ‘a’, “tens of times better” is the required property of the
laser. Hence option ‘a’ is correct.

Q.91) (d)

Explanation:

Here, use of passive is improper. Hence, ‘are repeating a
bonanza’ is the right usage. The very first thing to consider
in such type of questions is to strengthen your grammatical
concepts. If you are not clear with the basics, handling such
questions would be a hard nut to crack for you.

Q.92) (e)

Explanation:

No error. The very first thing to consider in such type of
questions is to strengthen your grammatical concepts. If you

are not clear with the basics, handling such questions would be
a hard nut to crack for you. I am going to tell you some basic
rules which you can remember while answering these questions.

However, you can follow some rules to make the process of



identifying the right answers easy.

Firstly, check and identify the part of the speech (whether

it is adjective, adverb, noun, pronoun etc.) in the sentence.
Second, identify the type of sentence (whether the sentence
is an interrogative, affirmative, or negative one). Third, check
punctuation errors (and this is going to be the easiest one).
Fourth, identify the subject-verb agreement of the sentence.

If you follow these steps, it will become easier for you to
answer these questions.

Q.93) (0

Explanation:

Here, it is a preposition-related error. Hence, ‘from bringing
migrants’ is the right usage.

The very first thing to consider in such type of questions is to
strengthen your grammatical concepts. I am going to tell you
some basic rules which you can remember while answering
these questions.

You can follow some rules to make the process of identifying
the right answers easy.

Firstly, check and identify the part of the speech (whether

it is adjective, adverb, noun, pronoun etc.) in the sentence.
Second, identify the type of sentence (whether the sentence

is an interrogative, affirmative, or negative one). Third, check
punctuation errors (and this is going to be the easiest one).
Fourth, identify the subject-verb agreement of the sentence. If
you follow these steps, it will become easier for you to answer
these questions.

Q.94) (¢)

Explanation:

Use of ‘to’ is superfluous. Hence, ‘stopping children’ should

be used. You should, firstly, check and identify the part of the
speech (whether it is adjective, adverb, noun, pronoun etc.) in
the sentence. Second, identify the type of sentence (whether

the sentence is an interrogative, affirmative, or negative one).
Third, check punctuation errors (and this is going to be the
casiest one). Fourth, identify the subject-verb agreement of the
sentence. If you follow these steps, it will become easier for you
to answer these questions.

Q.95) (d)

Explanation:

The word should be used with the first form of verb. Hence,

‘do no more than order pizza’ is the right usage. In comparative
degree, ‘than’ is used. To solve the question of error spotting,
you should follow a systematic approach. Firstly, check and
identify the part of the speech (whether it is adjective, adverb,
noun, pronoun etc.) in the sentence. Second, identify the type of
sentence (whether the sentence is an interrogative, affirmative,
or negative one). Third, check punctuation errors (and this is
going to be the easiest one). Fourth, identify the subject-verb
agreement of the sentence.
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Q.96) (e)

Explanation:

‘opine’, ‘said’ and ‘prove’ are not suitable for the first blank
as researchers always believe or suggest, ‘removing’ cannot
fit with the problem of water resources in dry areas. Only
‘preserving’ is suitable for the second blank. Hence, ‘believe’
and ‘preserving’ are suitable fillers.

Q.97) (e)

Explanation:

Use of ‘drum set’ invites the use of word ‘practice” and hence
the first blank will be filled with ‘shared’. So, (e) is correct
choice. You should build a strong vocabulary to clear the
competitive exams’ English. For this purpose, you should read
editorials from the newspaper daily.

Q.98) (b)

Explanation:

As the elephants are transported. So, use of ‘alight’ is suitable
for first blank. Also ‘tied’ gives the correct context in the
second blank. You should build a strong vocabulary to clear

the competitive exams’ English. For this purpose, you should
read editorials from the newspaper daily. It will not only help in
increasing the speed of reading but also aid in enhancing your
vocabulary.

Q.99) (b)

Explanation:

As one of the drivers is injured and dead then, so use of
‘including’ is justified for the second blank. Hence, (b) is the
correct choice. You should build a strong vocabulary to clear
the competitive exams’ English. Learn new phrases, synonyms,
antonyms, and idioms every day. And last but not the least
advice is ‘practice more’.

Q.100) (b)

Explanation:

Awareness is ‘created’ and hence second blank has the obvious
usage. So, (b) is the correct choice. You should build a strong
vocabulary to clear the competitive exams’ English. Learn new
phrases, synonyms, antonyms, and idioms every day. And last
but not the least advice is ‘practice more’.

Q.101) (b) 3241
Explanation:

For a nation whose secular credentials are being nibbled at by
various reactionary forces of different hues and degrees any
reminder of the ideology professed by its first Prime Minister
acquires the nature of a corrective mechanism. You should try to
understand the context of the sentence. Sometimes, the context
of the sentence also helps in identifying the correct option.

ANUIJJINDAL.IN



100 | RBI Grade B Previous Year Papers

Q.102) (e) 4132
Explanation:

A society where access to education and jobs depends not on
merit and ability but on quotas based on caste community and
gender or any other criterion, can hardly be stable or have a
good work ethic as one of its core values. You should try to
understand the context of the sentence. Sometimes, the context
of the sentence also helps in identifying the correct option.

Q.103) (b) 3124
Explanation:

The high exit volume and the paucity of time and avenues to
locate the right man for the right job with the dotcom frenzy
refusing to suicide despite forecasts of a burnout placement —
fairs have moved in to rectify what software companies have
been struggling with for some time.

Q.104) (d)

Explanation:

Faced with stiff opposition from the public a section of the
police force and some political parties in the ruling alliance

the left democratic Front Government in Kerala has shelved its
plans to start the much- publicized people’s policing scheme.
You should try to understand the context of the sentence.
Sometimes, the context of the sentence also helps in identifying
the correct option.

Q.105) (e)

Explanation:

Psychiatrists, child workers and educationists are emphasizing
the importance of bed time stories and they are questioning the
practice of children watching television or playing computer
games before going to bed since the kids are bidding adieu to

fairy tales or the simple habit of reading at bed time for a variety

of reasons.

You should try to understand the context of the sentence.
Sometimes, the context of the sentence also helps in identifying
the correct option.

Q.106) (e)

Explanation:

'Unreformed sectors are a drag on economic growth' can be
said about the Indian Economy at present. Reading questions
first and then reading the paragraph saves the time of the
aspirants. Read the questions, write keywords of the questions
in the rough sheet. This way, you can find the answers from the
reading comprehension very easily.

Q.107) (a)

Explanation:

Employers are reluctant to hire Indian Labour Force because
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‘Labour Laws are not conducive to generating employment’.
Reading questions first and then reading the paragraph saves the
time of the aspirants. Read the questions, write keywords of the
questions in the rough sheet. This way, you can find the answers
from the reading comprehension very easily.

Q.108) (c)

Explanation:

The state of India’s basic input sectors at present is that these
sectors are stagnating and badly in need of reforms.

Q.109) (b)

Explanation:

The author’s main objective is ‘Exhorting India to implement
measures to live up to its potential.’

Q.110) (a)

Explanation:

Reading questions first and then reading the paragraph saves the
time of the aspirants. Read the questions, write keywords of the
questions in the rough sheet. This way, you can find the answers
from the reading comprehension very easily.



